Vol. 18, No. 5, pp. 1653-1661, October 2014

DOI: 10.11650/tjm.18.2014.3665

This paper is available online at http://journal.taiwanmathsoc.org.tw

A NOTE ON ENNOLA RELATION

Jae Moon Kim and Jado Ryu*

Abstract. Ennola gives an example of a relation among the cyclotomic units which is not a combination of elementary relations. He also proves that twice any relation among the cyclotomic units is a consequence of elementary relations. In the sense of the distribution, the torsion part of the universal even punctured distribution $\left(A_n^0\right)^+$ is a 2-torsion group. In particular, when n has three distinct prime divisors, $\left(A_n^0\right)^+$ has a unique 2-torsion element. The aim of this paper is to find an algorithm to produce the unique 2-torsion element when n has three distinct odd prime divisors.

1. Introduction

For a positive integer n ($n \not\equiv 2 \mod 4$), let $\zeta_n = e^{2\pi i/n}$ be a primitive n^{th} root of 1 in $\mathbb C$. For an integer k with $n \nmid k$, put $a_k = \log |1 - \zeta_n^k|$, which is (the logarithm of) a cyclotomic number. It is well known that there are two types of relations among the cyclotomic numbers:

$$(1.1) a_k = a_{n-k} for n \nmid k$$

(1.2)
$$a_{(n/m)k} = \sum_{i=0}^{n/m-1} a_{k+mi} \text{ for } m \mid n \text{ and } m, n \nmid k.$$

We call these relations the elementary relations. In [2], Ennola gives a relation for n = 105 which is not a combination of elementary relations:

$$a_1 + a_2 + a_{17} + a_{43} + a_{44} + a_{46} - a_3 + a_9 + a_{36} + a_{25} + a_{40} + a_{28} = 0.$$

Received August 17, 2013, accepted February 25, 2014.

Communicated by Wen-Ching Winnie Li.

2010 Mathematics Subject Classification: Primary 11R18; Secondary 11R27.

Key words and phrases: Cyclotomic unit, Ennola relation, Distribution.

This research was supported by Basic Science Research Program through the National Research Foundation of Korea (NRF) funded by the Ministry of Education, Science and Technology (2012R1A1A2005931). *Corresponding author.

We call such a relation an Ennola relation.

Let $\left(A_n^0\right)^+$ be the universal even punctured distribution. Namely, $\left(A_n^0\right)^+$ is the abelian group generated by

$$\left\{ g\left(\frac{x}{n}\right) \middle| \frac{x}{n} \in \frac{1}{n} \mathbb{Z} / \mathbb{Z}, \frac{x}{n} \neq 0 \right\}$$

with the relations:

(1.3)
$$g\left(\frac{-x}{n}\right) = g\left(\frac{x}{n}\right) \text{ for } \frac{x}{n} \neq 0$$

(1.4)
$$g\left(\frac{x}{m}\right) = \sum_{i=0}^{n/m-1} g\left(\frac{x+mi}{n}\right) \text{ for } m \mid n \text{ and } \frac{x}{n}, \frac{x}{m} \neq 0.$$

The structure of $\left(A_n^0\right)^+$ is known to be ([4, Theorem 12.18])

$$(A_n^0)^+ \simeq \mathbb{Z}^{\varphi(n)/2+r-1} \oplus (\mathbb{Z}/2\mathbb{Z})^{2^{r-1}-r}$$

where r is the number of distinct prime divisors of n. Moreover, the map $g(x/n) \mapsto a_x$ induces an isomorphism

$$\left(A_n^0\right)^+/\left(\mathbb{Z}/2\mathbb{Z}\right)^{2^{r-1}-r} \simeq \langle \log|1-\zeta_n^a| \rangle.$$

Thus from the 2-torsion elements of $(A_n^0)^+$, we can obtain Ennola relations. In particular, $(A_n^0)^+$ has a unique 2-torsion element when $n=p_1^{e_1}p_2^{e_2}p_3^{e_3}$ has three distinct prime divisors.

The aim of this paper is to find an algorithm to produce an Ennola relation when n has three distinct odd prime divisors. Namely, we will find the 2-torsion element of the universal even punctured distribution. Although there is another algorithm to find Ennola relations ([1]), it seems that our result is more explicit and efficient once the generators of $(\mathbb{Z}/p_i^{e_i}\mathbb{Z})^{\times}$ are given.

2. Preliminaries and Notations

Let $n=p_1^{e_1}p_2^{e_2}p_3^{e_3}$ be the prime factorization of n which is odd. For each i=1,2 and 3, put $q_i=p_i^{e_i},\,n_i=n/q_i$ and $m_i=\varphi(q_i)/2$, where φ is the Euler-phi function. We have

$$(\mathbb{Z}/n\mathbb{Z})^{\times} \simeq (\mathbb{Z}/q_1\mathbb{Z})^{\times} \times (\mathbb{Z}/q_2\mathbb{Z})^{\times} \times (\mathbb{Z}/q_3\mathbb{Z})^{\times}.$$

We fix a generator σ_i of the cyclic group $(\mathbb{Z}/q_i\mathbb{Z})^{\times}$. The unique integer $x \mod n$ satisfying $x \equiv \sigma_i \mod q_i$ and $x \equiv 1 \mod n_i$ is also denoted by σ_i . With these notations, the relations (2.1) and (2.2) below can be obtained from the relations (1.3) and (1.4), where p_i^{-1} is an integer satisfying $p_i^{-1}p_i \equiv 1 \mod n_i$:

(2.1)
$$g\left(\frac{\sigma_1^{i_1+m_1}\sigma_2^{i_2+m_2}\sigma_3^{i_3+m_3}}{n}\right) = g\left(\frac{\sigma_1^{i_1}\sigma_2^{i_2}\sigma_3^{i_3}}{n}\right)$$

(2.2)
$$\sum_{t=0}^{2m_i-1} g\left(\frac{b\sigma_i^t}{n}\right) = g\left(\frac{b}{n_i}\right) - g\left(\frac{bp_i^{-1}}{n_i}\right) \text{ for } \gcd(b, p_i) = 1.$$

Throughout this paper we assume $\{1,2,3\}=\{\alpha,\beta,\gamma\}$. We define $I_{\alpha}(\beta)$ and $I'_{\alpha}(\beta)$ by

$$I_{\alpha}(\beta) = \text{ the index of } p_{\beta}^{-1} \text{ for the base } \sigma_{\alpha}, \text{ i.e., } \sigma_{\alpha}{}^{I_{\alpha}(\beta)} \equiv p_{\beta}^{-1} \mod q_{\alpha}.$$

$$I_{\alpha}'(\beta) = \begin{cases} I_{\alpha}(\beta) & \text{if } 0 \le I_{\alpha}(\beta) < m_{\alpha}, \\ I_{\alpha}(\beta) - m_{\alpha} & \text{if } m_{\alpha} \le I_{\alpha}(\beta) < \varphi(q_{\alpha}). \end{cases}$$

We also define δ^{α}_{β} by

$$\delta_{\beta}^{\alpha} = \begin{cases} 1 & \text{if } I_{\beta}(\alpha) = I_{\beta}'(\alpha), \\ -1 & \text{if } I_{\beta}(\alpha) \neq I_{\beta}'(\alpha). \end{cases}$$

Let

$$\mathcal{L}_{\gamma}^{\alpha} = \sum_{t=0}^{I_{\gamma}(\alpha)-1} \left(g\left(\frac{\sigma_{\gamma}^{t}}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^{t}p_{\beta}^{-1}}{q_{\gamma}}\right) \right) = \sum_{t=0}^{I_{\gamma}(\alpha)-1} \left(g\left(\frac{\sigma_{\gamma}^{t}}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^{t+I_{\gamma}(\beta)}}{q_{\gamma}}\right) \right)$$

and

$$\widetilde{\mathcal{L}}_{\gamma}^{\alpha} = \sum_{t=I_{\gamma}'(\alpha)}^{m_{\gamma}-1} \left(g\left(\frac{\sigma_{\gamma}^{t}}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^{t}p_{\beta}^{-1}}{q_{\gamma}}\right) \right) = \sum_{t=I_{\gamma}'(\alpha)}^{m_{\gamma}-1} \left(g\left(\frac{\sigma_{\gamma}^{t}}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^{t+I_{\gamma}(\beta)}}{q_{\gamma}}\right) \right).$$

In the summation above and for the rest of this paper, $\sum_{i=0}^{-1}(*)$ or $\sum_{i=1}^{0}(*)$ should be understood to be zero. Note that

$$\mathcal{L}_{\gamma}^{\alpha} = \sum_{i=0}^{2m_{\beta}-1} \sum_{j=0}^{I_{\gamma}(\alpha)-1} g\left(\frac{\sigma_{\beta}^{i} \sigma_{\gamma}^{j}}{q_{\beta} q_{\gamma}}\right)$$

and that

$$\mathcal{L}_{\gamma}^{\alpha} = \sum_{t=0}^{I_{\gamma}(\alpha)-1} \left(g\left(\frac{\sigma_{\gamma}^{t}}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^{t}p_{\beta}^{-1}}{q_{\gamma}}\right) \right)$$

since

$$\sum_{t=I_{\gamma}'(\alpha)}^{I_{\gamma}(\alpha)-1} \left(g\left(\frac{\sigma_{\gamma}^t}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^t p_{\beta}^{-1}}{q_{\gamma}}\right) \right) = 0.$$

Lemma 2.1. For integers α , β and γ , we have

$$(i) \ \widetilde{\mathcal{L}}_{\gamma}^{\alpha} = -\mathcal{L}_{\gamma}^{\alpha},$$

(ii)
$$\mathcal{L}^{\alpha}_{\gamma} = \mathcal{L}^{\beta}_{\gamma}$$
.

Proof. (i) It is not hard to check that

$$\sum_{t=0}^{m_{\gamma}-1} \left[g\left(\frac{\sigma_{\gamma}^t}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^t \tau}{q_{\gamma}}\right) \right] = 0 \text{ for all } \tau.$$

Thus $\mathcal{L}^{\alpha}_{\gamma}+\widetilde{\mathcal{L}}^{\alpha}_{\gamma}=0$ with $au=p_{eta}^{-1}$.

(ii) We have

$$\begin{split} \mathcal{L}_{\gamma}^{\alpha} &= \sum_{t=0}^{I_{\gamma}(\alpha)-1} \left(g\left(\frac{\sigma_{\gamma}^{t}}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^{t+I_{\gamma}(\beta)}}{q_{\gamma}}\right) \right) \\ &= \sum_{t=0}^{I_{\gamma}(\alpha)-1} \sum_{s=0}^{I_{\gamma}(\beta)-1} \left(g\left(\frac{\sigma_{\gamma}^{t+s}}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^{t+s+1}}{q_{\gamma}}\right) \right) \\ &= \sum_{s=0}^{I_{\gamma}(\beta)-1} \sum_{t=0}^{I_{\gamma}(\alpha)-1} \left(g\left(\frac{\sigma_{\gamma}^{s+t}}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^{s+t+1}}{q_{\gamma}}\right) \right) \\ &= \sum_{s=0}^{I_{\gamma}(\beta)-1} \left(g\left(\frac{\sigma_{\gamma}^{s}}{q_{\gamma}}\right) - g\left(\frac{\sigma_{\gamma}^{s+I_{\gamma}(\alpha)}}{q_{\gamma}}\right) \right) \\ &= \mathcal{L}_{\gamma}^{\beta}. \end{split}$$

3. A 2-Torsion Element in the Universal Even Punctured Distribution

This section is devoted to finding the 2-torsion element in $\left(A_n^0\right)^+$. Put

$$\mathcal{M}_{1} = \sum_{i=0}^{2m_{1}-1} \sum_{j=0}^{m_{2}-1} \sum_{k=0}^{m_{3}-1} g\left(\frac{\sigma_{1}^{i} \sigma_{2}^{j} \sigma_{3}^{k}}{n}\right),$$

$$\mathcal{M}_{2} = -\sum_{i=m_{1}}^{2m_{1}-1} \sum_{j=0}^{2m_{2}-1} \sum_{k=0}^{m_{3}-1} g\left(\frac{\sigma_{1}^{i} \sigma_{2}^{j} \sigma_{3}^{k}}{n}\right),$$

$$\mathcal{M}_{3} = \sum_{i=m_{1}}^{2m_{1}-1} \sum_{j=m_{2}}^{2m_{2}-1} \sum_{k=0}^{2m_{3}-1} g\left(\frac{\sigma_{1}^{i} \sigma_{2}^{j} \sigma_{3}^{k}}{n}\right).$$

We also define \mathcal{B}_{α} by

$$\mathcal{B}_{\alpha} = \begin{cases} \mathcal{B}_{\beta\gamma}^{++} & \text{if } \delta_{\beta}^{\alpha} = 1, \delta_{\gamma}^{\alpha} = 1, \\ \mathcal{B}_{\beta\gamma}^{+-} & \text{if } \delta_{\beta}^{\alpha} = 1, \delta_{\gamma}^{\alpha} = -1, \\ \mathcal{B}_{\beta\gamma}^{-+} & \text{if } \delta_{\beta}^{\alpha} = -1, \delta_{\gamma}^{\alpha} = 1, \\ \mathcal{B}_{\beta\gamma}^{--} & \text{if } \delta_{\beta}^{\alpha} = -1, \delta_{\gamma}^{\alpha} = -1, \end{cases}$$

where

$$\begin{split} \mathcal{B}_{\beta\gamma}^{++} &= \sum_{s=0}^{I_{\beta}'(\alpha)-1} \sum_{t=0}^{I_{\gamma}'(\alpha)+m_{\gamma}-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right) + \sum_{s=I_{\beta}'(\alpha)}^{m_{\beta}-1} \sum_{t=0}^{I_{\gamma}'(\alpha)-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right), \\ \mathcal{B}_{\beta\gamma}^{-+} &= \sum_{s=0}^{I_{\beta}'(\alpha)-1} \sum_{t=0}^{I_{\gamma}'(\alpha)-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right) + \sum_{s=I_{\beta}'(\alpha)}^{m_{\beta}-1} \sum_{t=0}^{I_{\gamma}'(\alpha)+m_{\gamma}-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right), \\ \mathcal{B}_{\beta\gamma}^{+-} &= \sum_{s=0}^{I_{\beta}'(\alpha)-1} \left[\sum_{t=0}^{m_{\gamma}-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right) + \sum_{t=m_{\gamma}+I_{\gamma}'(\alpha)}^{2m_{\gamma}-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right)\right] + \sum_{s=I_{\beta}'(\alpha)}^{m_{\beta}-1} \sum_{t=0}^{m_{\gamma}-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right), \\ \mathcal{B}_{\beta\gamma}^{--} &= \sum_{s=0}^{I_{\beta}'(\alpha)-1} \sum_{t=0}^{m_{\gamma}-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right) + \sum_{s=I_{\beta}'(\alpha)}^{m_{\beta}-1} \left[\sum_{t=0}^{m_{\gamma}-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right) + \sum_{t=m_{\gamma}+I_{\gamma}'(\alpha)}^{2m_{\gamma}-1} g\left(\frac{\sigma_{\beta}^{s} \sigma_{\gamma}^{t}}{n_{\alpha}}\right)\right], \end{split}$$

Lemma 3.1. For integers α, β and γ , we have

$$\mathcal{M}_{\alpha} + \delta^{\alpha}_{\beta} \mathcal{L}^{\alpha}_{\beta} + \delta^{\alpha}_{\gamma} \mathcal{L}^{\alpha}_{\gamma} = 2\mathcal{B}_{\alpha}.$$

Proof. First, we consider the case when $\alpha = 1$. Note that

$$\mathcal{M}_{1} = \sum_{i=0}^{2m_{1}-1} \sum_{j=0}^{m_{2}-1} \sum_{k=0}^{m_{3}-1} g\left(\frac{\sigma_{1}^{i} \sigma_{2}^{j} \sigma_{3}^{k}}{n}\right)$$
$$= \sum_{j=0}^{m_{2}-1} \sum_{k=0}^{m_{3}-1} \left(g\left(\frac{\sigma_{2}^{j} \sigma_{3}^{k}}{n_{1}}\right) - g\left(\frac{\sigma_{2}^{j} \sigma_{3}^{k} p_{1}^{-1}}{n_{1}}\right)\right).$$

Suppose that $\delta_2^1=1$ and $\delta_3^1=1$. Then we have

$$\mathcal{M}_1 + \mathcal{L}_2^1 + \mathcal{L}_3^1$$

$$= \mathcal{M}_1 + \sum_{j=0}^{I_2'(1)-1} \left(g\left(\frac{\sigma_2^j}{q_2}\right) - g\left(\frac{\sigma_2^j p_3^{-1}}{q_2}\right) \right) + \sum_{k=0}^{I_3'(1)-1} \left(g\left(\frac{\sigma_3^k}{q_3}\right) - g\left(\frac{\sigma_3^k p_2^{-1}}{q_3}\right) \right)$$

$$= \mathcal{M}_{1} + \sum_{j=0}^{I'_{2}(1)-1} \sum_{k=0}^{2m_{3}-1} g\left(\frac{\sigma_{2}^{j} \sigma_{3}^{k}}{n_{1}}\right) + \sum_{k=0}^{I'_{3}(1)-1} \sum_{j=0}^{2m_{2}-1} g\left(\frac{\sigma_{2}^{j} \sigma_{3}^{k}}{n_{1}}\right)$$

$$= \sum_{j=0}^{I'_{2}(1)-1} \sum_{k=0}^{m_{3}+I'_{3}(1)-1} 2g\left(\frac{\sigma_{2}^{j} \sigma_{3}^{k}}{n_{1}}\right) + \sum_{j=I'_{2}(1)}^{m_{2}-1} \sum_{k=0}^{I'_{3}(1)-1} 2g\left(\frac{\sigma_{2}^{j} \sigma_{3}^{k}}{n_{1}}\right)$$

$$= 2\mathcal{B}_{23}^{++}.$$

For $\delta_2^1 = \delta_3^1 = -1$, we have

$$\mathcal{M}_1 - \mathcal{L}_2^1 - \mathcal{L}_3^1 = \mathcal{M}_1 + \mathcal{L}_2^1 + \mathcal{L}_3^1 - 2\mathcal{L}_2^1 - 2\mathcal{L}_3^1 = 2(\mathcal{B}_{23}^{++} + \widetilde{\mathcal{L}}_2^1 - \mathcal{L}_3^1) = 2\mathcal{B}_{23}^{--}$$

since the meaning of \mathcal{M}_1 for $\delta_2^1=\delta_3^1=1$ and that for $\delta_2^1=\delta_3^1=-1$ agree. When $\delta_2^1=1$ and $\delta_3^1=-1$, we have

$$\begin{split} &\mathcal{M}_{1} + \mathcal{L}_{2}^{1} - \mathcal{L}_{3}^{1} = \mathcal{M}_{1} + \mathcal{L}_{2}^{1} + \widetilde{\mathcal{L}}_{3}^{1} \\ &= \mathcal{M}_{1} + \sum_{j=0}^{I_{2}'(1)-1} \sum_{k=0}^{2m_{3}-1} g\left(\frac{\sigma_{2}^{j}\sigma_{3}^{k}}{n_{1}}\right) + \sum_{k=I_{3}'(1)}^{m_{3}-1} \sum_{j=0}^{2m_{2}-1} g\left(\frac{\sigma_{2}^{j}\sigma_{3}^{k}}{n_{1}}\right) \\ &= \sum_{j=0}^{I_{2}'(1)-1} \left[\sum_{k=0}^{m_{3}-1} 2g\left(\frac{\sigma_{2}^{j}\sigma_{3}^{k}}{n_{1}}\right) + \sum_{k=m_{3}+I_{3}'(2)}^{2m_{3}-1} 2g\left(\frac{\sigma_{2}^{j}\sigma_{3}^{k}}{n_{1}}\right) \right] + \sum_{j=I_{2}'(1)}^{m_{2}-1} \sum_{k=I_{3}'(2)}^{m_{3}-1} 2g\left(\frac{\sigma_{2}^{j}\sigma_{3}^{k}}{n_{1}}\right) \\ &= 2\mathcal{B}_{23}^{+-} \,. \end{split}$$

Finally, for $\delta_2^1 = -1$ and $\delta_3^1 = 1$, we have

$$\mathcal{M}_1 - \mathcal{L}_2^1 + \mathcal{L}_3^1 = \mathcal{M}_1 + \widetilde{\mathcal{L}}_2^1 + \mathcal{L}_3^1 = 2\mathcal{B}_{23}^{-+}.$$

The cases when $\alpha = 2$ or 3 can be similarly proved by using the identities

$$\mathcal{M}_{2} = -\sum_{i=m_{1}}^{2m_{1}-1} \sum_{k=0}^{m_{3}-1} \left(g\left(\frac{\sigma_{1}^{i} \sigma_{3}^{k}}{n_{2}}\right) - g\left(\frac{\sigma_{1}^{i} \sigma_{3}^{k} p_{2}^{-1}}{n_{2}}\right) \right)$$

$$= \sum_{i=0}^{m_{1}-1} \sum_{k=0}^{m_{3}-1} \left(g\left(\frac{\sigma_{1}^{i} \sigma_{3}^{k}}{n_{2}}\right) - g\left(\frac{\sigma_{1}^{i} \sigma_{3}^{k} p_{2}^{-1}}{n_{2}}\right) \right)$$

and

$$\mathcal{M}_3 = \sum_{i=0}^{m_1 - 1} \sum_{j=0}^{m_2 - 1} \left(g\left(\frac{\sigma_1^i \sigma_2^j}{n_3}\right) - g\left(\frac{\sigma_1^i \sigma_2^j p_3^{-1}}{n_3}\right) \right).$$

Theorem 3.2. Put

$$\mathcal{M} = \sum_{i=0}^{m_1-1} \sum_{j=0}^{m_2-1} \sum_{k=0}^{m_3-1} g\left(\frac{\sigma_1^i \sigma_2^j \sigma_3^k}{n}\right).$$

Then

$$\mathcal{R}_n = \mathcal{M} + \frac{(\delta_1^2 + \delta_1^3)}{2} \mathcal{L}_1^2 + \frac{(\delta_2^1 + \delta_2^3)}{2} \mathcal{L}_2^3 + \frac{(\delta_3^1 + \delta_3^2)}{2} \mathcal{L}_3^1 - \mathcal{B}_1 - \mathcal{B}_2 - \mathcal{B}_3$$

is the 2-torsion element in $(A_n^0)^+$.

Proof. Observe that

$$\mathcal{M}_{1} + \mathcal{M}_{2} + \mathcal{M}_{3} = \sum_{i=0}^{m_{1}-1} \sum_{j=0}^{m_{2}-1} \sum_{k=0}^{m_{3}-1} g\left(\frac{\sigma_{1}^{i} \sigma_{2}^{j} \sigma_{3}^{k}}{n}\right) + \sum_{i=m_{1}}^{2m_{1}-1} \sum_{j=m_{2}}^{2m_{2}-1} \sum_{k=m_{3}}^{2m_{3}-1} g\left(\frac{\sigma_{1}^{i} \sigma_{2}^{j} \sigma_{3}^{k}}{n}\right)\right)$$

$$= 2 \left(\sum_{i=0}^{m_{1}-1} \sum_{j=0}^{m_{2}-1} \sum_{k=0}^{m_{3}-1} g\left(\frac{\sigma_{1}^{i} \sigma_{2}^{j} \sigma_{3}^{k}}{n}\right)\right)$$

$$= 2\mathcal{M}.$$

On the other hand, by Lemma 3.1, we have

$$\mathcal{M}_1 + \delta_2^1 \mathcal{L}_2^1 + \delta_3^1 \mathcal{L}_3^1 + \mathcal{M}_2 + \delta_1^2 \mathcal{L}_1^2 + \delta_3^2 \mathcal{L}_3^2 + \mathcal{M}_3 + \delta_1^3 \mathcal{L}_1^3 + \delta_2^3 \mathcal{L}_2^3 = 2\mathcal{B}_1 + 2\mathcal{B}_2 + 2\mathcal{B}_3$$

Since $\mathcal{L}_1^2=\mathcal{L}_1^3$, $\mathcal{L}_2^1=\mathcal{L}_2^3$ and $\mathcal{L}_3^1=\mathcal{L}_3^2$, we have

$$2\mathcal{M} + (\delta_2^1 + \delta_2^3)\mathcal{L}_2^1 + (\delta_3^1 + \delta_3^2)\mathcal{L}_3^1 + (\delta_1^2 + \delta_1^3)\mathcal{L}_1^2 - 2\mathcal{B}_1 - 2\mathcal{B}_2 - 2\mathcal{B}_3 = 0.$$

Hence

$$2\mathcal{R}_n=0.$$

Finally, note that $\mathcal{R}_n \neq 0$ since the coefficient of $g(\frac{1}{n})$ in the expansion of \mathcal{R}_n with respect to the basis of $(A_n^0)^+$ given in [3, Theorem 1] equals 1.

4. Example

When n=105, the theorem given in the previous section enables us to obtain the following Ennola relation.

Let $g(\frac{a}{n}) = g_n^a$ for simplicity. Put $p_1 = q_1 = 7$, $p_2 = q_2 = 5$ and $p_3 = q_3 = 3$. Then with $\sigma_1 = 3(31 \mod 105)$, $\sigma_2 = 3(43 \mod 105)$ and $\sigma_3 = 2(71 \mod 105)$, we have

$$\mathcal{M} = g_{105}^1 + g_{105}^{16} + g_{105}^{31} + g_{105}^{43} + g_{105}^{58} + g_{105}^{73}.$$

Since

$$\begin{split} &\delta_1^2=1, \delta_1^3=-1,\\ &\delta_2^1=1, \delta_2^3=-1,\\ &\delta_3^1=1, \delta_3^2=-1, \end{split}$$

we have

$$\frac{1}{2}(\delta_1^2 + \delta_1^3)\mathcal{L}_1^2 = 0,$$

$$\frac{1}{2}(\delta_2^1 + \delta_2^3)\mathcal{L}_2^1 = 0,$$

$$\frac{1}{2}(\delta_3^1 + \delta_3^2)\mathcal{L}_3^1 = 0$$

and

$$\mathcal{B}_{3} = \mathcal{B}_{12}^{--} = g_{35}^{8} + g_{35}^{3} + g_{35}^{16} + g_{35}^{23} + g_{35}^{2},$$

$$\mathcal{B}_{2} = \mathcal{B}_{13}^{+-} = g_{21}^{1} + g_{21}^{8} + g_{21}^{10} + g_{21}^{16},$$

$$\mathcal{B}_{1} = \mathcal{B}_{23}^{++} = g_{15}^{1}.$$

Thus

$$\mathcal{R}_{105} = (g_{105}^1 + g_{105}^{16} + g_{105}^{31} + g_{105}^{43} + g_{105}^{58} + g_{105}^{73}) - (g_{35}^8 + g_{35}^3 + g_{35}^{16} + g_{35}^{23} + g_{35}^2) - (g_{21}^1 + g_{21}^8 + g_{21}^{10} + g_{21}^{16}) - (g_{15}^1).$$

To compare above relation with the one given by Ennola, we note that

$$\mathcal{R}_{105} = g_{105}^1 + g_{105}^2 + g_{105}^{17} + g_{105}^{43} + g_{105}^{44} + g_{105}^{46} -g_{35}^1 + g_{35}^3 + g_{35}^{12} + g_{21}^5 + g_{21}^8 + g_{15}^4 + \mathbf{R}_1 + \mathbf{R}_2,$$

where \mathbf{R}_1 and \mathbf{R}_2 are sums of elementary relations (1.3) and (1.4):

$$\begin{aligned} \mathbf{R}_{1} &= -(g_{105}^{2} + g_{105}^{44} + g_{105}^{23} + g_{105}^{86} + g_{21}^{13} - g_{21}^{2}) \\ &- (g_{105}^{17} + g_{105}^{59} + g_{105}^{38} + g_{105}^{101} + g_{21}^{16} - g_{21}^{17}) + (g_{105}^{23} + g_{105}^{58} + g_{35}^{31} - g_{35}^{23}) \\ &+ (g_{105}^{305} + g_{105}^{73} + g_{35}^{15} - g_{35}^{35}) + (g_{105}^{31} + g_{105}^{101} + g_{35}^{22} - g_{35}^{31}) \\ &+ (g_{105}^{16} + g_{105}^{86} + g_{35}^{17} - g_{35}^{16}) - (g_{21}^{1} + g_{21}^{4} + g_{21}^{10} + g_{21}^{13} + g_{21}^{16} + g_{21}^{19}) \\ &+ (g_{21}^{13} + g_{21}^{20} + g_{7}^{2} - g_{7}^{6}) - (g_{21}^{1} + g_{21}^{8} + g_{7}^{5} - g_{7}^{1}) - (g_{15}^{4} + g_{5}^{3} + g_{15}^{14} - g_{5}^{4}) \\ &- (g_{35}^{8} + g_{35}^{3} + g_{35}^{23} + g_{35}^{13} + g_{35}^{13} + g_{35}^{33} + g_{5}^{4} - g_{5}^{5}), \end{aligned}$$

and

$$\mathbf{R}_{2} = (g_{105}^{59} - g_{105}^{46}) + (g_{35}^{13} - g_{35}^{22}) + (g_{35}^{23} - g_{35}^{12}) + (g_{35}^{18} - g_{35}^{17}) + (g_{35}^{33} - g_{35}^{2})$$

$$+ (g_{21}^{16} - g_{21}^{5}) + (g_{21}^{13} - g_{21}^{8}) + (g_{21}^{19} - g_{21}^{2}) + (g_{21}^{4} - g_{21}^{17}) + (g_{21}^{1} - g_{21}^{20})$$

$$+ (g_{15}^{14} - g_{15}^{1}) + (g_{7}^{5} - g_{7}^{2}) + (g_{7}^{6} - g_{7}^{1}).$$

ACKNOWLEDGMENTS

We would like to thank the referee for his/her careful reading of the earlier version of this paper and valuable suggestions.

REFERENCES

- 1. M. Conrad, On explicit relations between cyclotomic numbers, *Acta. Arith. XCIII.*, **1** (2000), 67-76.
- 2. V. Ennola, On relations between cyclotomic units, J. Number Theory, 4 (1972), 236-247.
- 3. R. Gold and J. Kim, Bases for cyclotomic units, Compositio Math., 71 (1989), 13-28.
- 4. L. Washington, *Introduction to Cyclotomic Fields*, Grad. Texts in Math, Vol. 74, Springer-Verlag, New York/Berlin, 1980.

Jae Moon Kim and Jado Ryu
Department of Mathematics
Inha University
Incheon, Korea
E-mail: jmkim@inha.ac.kr
jdryu@inha.ac.kr